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Answer any two questions from section - A, 

four questions from section - B and all 
questions from section - C. 

SECTION-A 
Answer any two questions from this section in about 
500 words each. 	 2x20=40 

1. Explain the concepts of price effect, substitution 

effect and income effect in the case of a normal 

good. Draw appropriate diagram to support your 
answer. 

2. Explain the methods of estimating GDP of an 
economy. 

3. Explain the law of variable proportions with 

suitable diagram. Which stage is appropriate for 
the producer to operate in ? 

4. What is meant by a cartel ? Explain one of the 

theories on equilibrium of a firm in a cartel. 

EEC-01 	 1 	 P.T.O. 



SECTION-B 

Answer any four questions from this section in 

about 250 words each. 	 4x12=48 

5. Explain the theory of comparative cost advantage. 

6. Explain the relationship between average cost, 

marginal cost and total cost of a firm with 

appropriate diagram. Show the equilibrium 

condition of a competitive firm in the long run. 

7. Explain with the help of diagram how a 

monopolist firm will be in equilibrium. 

8. Explain the stages of growth as propounded by 

Rostow. 

9. Distinguish between speculative demand and 

transaction demand for money. Why does a 

liquidity trap situation arise ? 
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SECTION-C 
Answer all the questions in this section in about 
100 words each. 	 2x6=12 

10. Write short notes on any two of the following 
(a) Normal Profit 

(b) Oligopoly 

(c) Terms of trade 

(d) Say's law of markets 

11. Distinguish between any two of the following : 
(a) Fixed cost and variable cost 

(b) Oligopoly and monopolistic competition 
(c) Indirect tax and direct tax 
(d) Marginal Revenue Product and Marginal 

Value Product. 
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